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The diagram shows the carve ¥ = 7 + 2 — x° and the lne y = x + 1 miersecting at the points 4

and 5.
{aj Find the coordinates of B. : [zf:}
(b} Evaluate the area of the shaded region. (8]
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The dingram shows a sketch of the curve ¥ = x* + 3 and the Iine v = 4x. The line and the
corve infersectat the poimts A and B.

{i) Showmng vour working, find the coordinates of 4 and B.

(@) Evaluate the area of the shaded region. [10]
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i The dizgram shows g sketch of the curve v = x° + 2 and the Tine y=3r
The Line and the carve inrersect at the points A and B.
(1) Tind the coordinates of the points A and B. 4]
() Evaluate the area of the shaded regjon. [71
June 2007
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The diagram shows a sketch of the curve vy =2% — 6x + 11 and the Hine v = —v+ 7. The crove
and the line mtersect at the points A and B.

(1) Showmg your working, fmd the coordmates of A and B.
@) Find the avea of the shaded region. - [
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